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B.A.:1
ECONOMICS
Paper 11

[Indian Economy]
Time : Three Hours | [Maximum Marks : 75
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Note :Section ‘A’, containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of short
answer type questions and Section ‘C’ consists of long
answer type questions. Section ‘A’ has to be solved first.

qus ‘3’
Section ‘A’
Freifera @1fa org ST el o 3T Wk A1 &t IRl
BRI
Answer the following very short answer type
questions in one or two sentences. [1 x 10 =10]
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. fiord S 31T sfuear 3 o191 i v 9y fopam 2

When did Reserve Bank of India start
functionning.

. SHIeRT gumredt s © ?

What is zamindari system ?

. S & SforseieRtor &1 7 1 § ?

What is the meaning of commercialization of
agriculture ?

c_n oSN AN
. SRS Yo ford hed € ?

What is international migration ?

. HaT S foeRtd o o 31 ® 2

What is the meaning of human resources
development ?

. 71 S =gg-iifd =1 ¢ T

What is the meaning of new agricultural
strategies.

. f9-gur 1 3 § 2

What is the meaning of land reforms ?

. Aifgw Afg e g ?

What is monetary policy ?
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I 1 378 SaTEy |

Write the meaning of saring.
TG Y TR 1§ 2
What is credit rationing ?

qug ‘9’

Section ‘B’

freAifeRd o7 ST U1 o STR ST 150-200 ¥Tss
o H S
Answer the following short answer type questions
in about 150-200 words. [5 x 5=25]

. T AfeeEen W feuoht fafaw |

Write short note on stagnant economy.

31gdr/ Or

ORA § fSTeRTor <l 99T |

Explain privatization in India.

. A4 o™ gaehieh &1 3299 admsC |

What are the objectives of human development
index.

31gdr/ Or

O § 2719 hi STHHMAT & I Jd15y |

State the causes for income inequality in India.
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3. URd o WSt A ) e ey fafau |

Write an essay on mineral resources of India.
AU4A1/ Or

ST ISl o 329y fafe |
Write the objectives of Mudra Yojana.

. HaSIeh &5 o 3YshH & Sevd IdisU |

State the objectives of public sector undertaking.
3qar/ Or
T T& ek SET | 3T<R adrey |

Differentiate between small and Cottage
Industries.

. F0HM § YRA % Y@ A qe i s

Write the major imports and exports in India at
present.

41/ Or
ST ThTd ohl Tk o I &S |
Suggests ways to prevent inflation.

gue ‘|’

Section ‘C’
FreATfeRd STF IR 9T & ST T 300-350 I3
Hrar H S
Answer the following long answer type questions
in about 300-350 words. [8 x 5=40]
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1. fofest wmeM &1 § R M & Ia7 & BRI
FATST |

Write the causes of the decay of cottage industries
in British Rule.

34T/ Or
O H ST STENT Shi STATEHTcHeh SAREAT Shifsd |

Critically analyse the Indian planning
commission.

.9 H SEEN gfg & FRU Td 39 Y9 hi
RSAT hifST |

Explain the causes and effects of population
increases in India.

3gdr/ Or

IRA H e & HRU T W& g hd o g
fafem |

Write the causes of poverty in India. Also explain
the measures eradicate it.

. RIS it & foRTemiet shi e Hife |

Explain the main features of Indian agriculture.

AAdT/ Or
IRd B S fauom &t wfczal #n € 2 wiu fauom
T gYR & UM SR |
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What are the difficulties of agricultural marketing
in India ? Suggest ways to improve agricultural
marketing.

T8 1991 1 A=NfTes ifd &1 ATel=cHS STl

TSI |
Critically evaluate the Industrial policy of the
year 1991.

A4/ Or

IR W IR o 27N faea &1 fagroanst
] TS HIfST |

Explain the characteristics of industrial
development of India during the planning period.

. TSI 3T T YRS SISIT | YR | A 3T hi

il gfg & RO FaRy |

Define National Income. Give reasons for the
slow growth of National Income in India.

3gdr/ Or
o =1 = o1 ®§ 2 yRa |/ = 9w & wRw
EnIE

What is the meaning of investment. Give reasons
for low investment in India.
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